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Instruction-

All questions are compulsory. Instructions are given wherever necessary.

EERERK]

(Objective Type Questions:)

7.1 Tt feehe forferm- (1x5=5)

(37) I A7 ST AT T F g1 a1 & (o0 ITLaTAT 8-

(1) FAFSTHAT (2) TSTIEIaFT (3) THieraae? (4) T aay

(@) [ae=g & I8 [ FI Fgd o-

(1) AeH (2) Ffeher (3) T&AH (4) Tl

() T8 | FHF9T AT gl 8-

(1) T Strar FITSRTSH § Feseh [eTaT 2

(2) T, STe TAT qTET HITAHTAT F T FHifrant f3ixr grar g

(3) TR ArferenTet # fBreet & srafa o Ag! ot 2
(4) FXFrT T T s TaTet & 3 R g 2

(3) T I HATHS THIS &-

(1) TFH (2) FIHT (3) FHA (4) HSIAT

(z) fa=g &mawT g -

(1) To&IT GTRT (2) ATALEN GIT (3) STALelt GIT (4) AT teg a1 5T
Choose correct option:

(a) Which bacteria is responsible for curdling of milk-

(1) Lactobacillus (i1) Azotobactor (iii) Acetobactor (iv) Rhizobium
(b) Dorsal skeleton of cockroach is called-

(1) Notum (i1) Cuticle (iii) Sternum (iv) Coxa

(c) Which of the following is correct-?

(1) All living cells have nucleus.

(i1) Both animal and plant cell have a well defined cell wall.
(i11) In Prokaryotes, there are no membrane bound organelles.
(iv) Cell are formed de novo from abiotic materials.
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@ovus (d) Functional unit of Kidney is-
(1) Nephron (ii1) Alveoli (ii1) Capsule (iv) Medula
(e) Guttation occurs through-
(1) By stomata (i1) By lenticel (ii1) By Hydathedes (iv) By Mitochondria
.2 T=F ==t A i Sifore- (1x5=5)

(37) FTRETHIE, TT oo T T AAT 5| (FLEehT/AHAT)

(@) Teft XorT () H FeTT e H AUSTRA BaT gl (AT o
STTeTRT/ETE e oA TSHT)

() T, AT wevrvevreeereeeereeeeeenes gl (ST/ITTE)

(F) TATSHIATSOE 6 AT o H AT g1 (FITAHT FA/ AT R TrgAT)

(T) THEAT AT o FHITSTRTSAT § TFS raT gl (FTTAH/STH)

Fill in the blanks:

(A) The notochord is the main character of the phylum ................. (Chordata/Non
chordata)

(B) In muscle fibre Calcium is stored in .............. (Sarcoplasmic reticulum/cytoplasm)
(C) Flower 1s a modified ............... (Root/Shoot)

(D) Glycolysis occurs in ............... (Cytoplasm/Mitochondria)

(E) Mitosis occurs in ................. cells. (Somatic / Reproductive)

.3 T/ - (1x5=5)

(37) T HIATHT o STl T AL HIAA gIdT gl (FH/HqA)

() THRFT TAEAT § T TR T HEAT FEAT gl (FT/3T6H)
() TSI § T 33 SISt T2 qr=enrd It STt g1 (Fe/3m8c)
(F) TB-FTLH, GIATTRATSH o TN T AT g1 & (FeT/TE)
(T) e ek [ 2. AT, T AT Hgl ATqT g1 (F/3TE)

True / False-
(a) Organism of Phylum Mollusca has soft body. (True / False)
(b) Leucocyte count is high in infectious stage. (True / False)
(c) There are 33 pair of spinal nerves present in human. (True / False)

(d) Cofactor is nonproteinous compound of holoenzyme. (True / False)
(e) Krebs cycle is also called EMP pathway. (True / False)

T.4 FIAH I T FIAT T F T AL AT a9189- (1x5=5)
FTAT I - FTAT T

(37) STRTh Ao - (1) FE=T

() STHTEHIA - (2) ST Gagd aF
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WECES (7)Y - (3) CO, FT TLFH0
(%) T - (4) ST T g
(3) AT ASAT - (5) FHtFT=
Make correct pair for column A choosing from column B-
(a) Natural Classification — (i) Casein

(b) Haemocoel — (ii) Water vascular system
(c) Rennin — (ii1) Fixation of CO,
(d) Stroma — (iv) Bentham and Hooker
(e) Star fish — (v) Cockroach
ST A ITLT T (2751 HIHT T 30 9T53)
Very Short Answer Type Questions (Word limit is approximately 30 words)

7.5 Tofia a7 fAsfia #§ #rs a7 swax forfean (2)
Write any two differences between living and non living.

AYAT / OR
T TITaFaT o &7 Jeed) & 919 e

Write name of two members of phylum protista.

T.6 Fde I AT Hifom (2)

Define Tissue.

FI41/ OR
ATALET FAT 57
What is Lenticel?
.7 S &l TSI it (2)
Define Protein.
FI41/ OR

TrSTTSHI ol ST I Fgd gl F17?
Enzymes are called biocatalysts. Why?

T.8 T[0T T TILATIOT HITorTl (2)

Define Vernalization.
ITI4T7/ OR

Tt g 4T 82

What is seed dormancy?

T 3L T (9758 FHTHT AT 75 9753)
Short Answer Type Questions (Word limit is approximately 75 words)
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@evwus T.9 TGEAT TAATSI T 22 8 &7 Heed ferted| (3)
What is Meiotic division? Write any two importance of it.
FqET
What is Mitotic division? Write any two importance of it.

AT AT 97 82 39 aF 98cd (|

.10 STeq ITRT T ATHI R = 1241 (3)
Draw a labelled diagram of Animal Cell.

AT4T/ OR
TS IR T ATHTTRT = a5
Draw a labelled diagram of Plant Cell.

.11 99 AT T qree GT 790 Fgd g2 THY SMad gid arel &l Al & 719
ferfer (3)

Why Pituitary gland is called as master gland. Write name of two hormones that are
secreted by Pituitary gland.
AI4qT/ OR
STTeeT |1 3T g2 QT T ol HILAT o ATH el
What is bone Joint? Write two types of Joint.
.12 &F&T H CO, F qaed @i Fharfata e (3)
Write mechanism of transportation of CO, in Blood.
AI4qT/ OR
qTaA R Fgd g2 A o 9199 § HCl % &7 & forfaa|

What is digestion? Write two function of HCI in digestion of food.

ST I T (9751 FHTHT TR 120 975%)

Long Answer Type Questions (Word limit is approximately 120 words)

T.13 FAThT TAT THATT ITOFT H AL 3a< forferan (4)
Write four differences between chordates and nonchordates.

FAI4T/ OR
SATFATSIT AT SAATIAS ST ITE1 | e AL FqL (gl
Write any four differences between Angiosperm and Gymnosperm plant.

.14 AT g 6T ST AT HT ATHI R = 91241 (4)
Draw a labelled diagram of longitudinal section of Human Heart.

FIaT1/ OR
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(G EACER

TS = Tl T TS FT ATHIRT (=T a9T2T|

Draw a labelled diagram of longitudinal section of human eye ball.

.15 Hagd I FT 52 Tagd T o Th1 T J09 iUl (4)

What is Vascular bundle? Describe the types of Vascular bundles.
AT4T/ OR

TCUSHH FAT &2 THIHTET TAT ATHTEAT ToUsRA 7 sfa¥ forfa)

What is inflorescence? Write differences between Recemose and Cymose inflorescence.

.16 AT T THEAT FHITAHT AATSH § Filg 912 A< oI&u) (4)
Write any four differences between Mitosis and Meiosis.

FI4at1/ OR
TR TTedh TAT TRTLATIEH RITLAHIA | Fls AL (AL [T |

Write any four differences between Eukaryotic and Prokaryotic Cell.

.17 ST TEWOT FT g2 THhT9r HLWT it FTrAT T T9TRAT T ATl AT FHILDI AT

U ST (4)

What is Photosynthesis? Describe any four factors affecting Photosynthesis.
AT4T/ OR

ST ATTRT UHT FLA &l gl ST AT Teh ITGT Al (AATHE T AT a-

(1) ToeT 22T | S8 9aT e 2

() A T STodl THH 2

(T) FeTeT FHfcrshtat # Fig F 2q

(7) T e N Ao 2

Which one of the plant growth regulators would you use if you are asked to-

(a) Induce rooting in a twing

(b) Quickly ripen a fruit

(¢) Induce growth in axillary buds

(d) Bolting of rosette Plant

QTH LT ToT| (9752 HIHT ST 150 9753)

Long Answer Type Questions (Word limit is approximately 150 words)

T.18 Teh 1T 1T UF e o= I § &Iz 9 q< eyl (5)

Write any five differences between monocot and dicot stem.
AT4T/ OR

H@eh h qTAAqS & [Seqd Jo i 0|

Mention briefly about the Digestive System of Frog.
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@EWYS .19 C3 TAT C4 Wre § s ai= ax ferfem (5)
Write five differences between C3 and C4 plants.

JI41/ OR
i forfea-
(37) T (F) BEwor (7) Sttagaqga9d (I) AT (T) arsTicdTsid
Define —

(a)  Osmosis (b) Diffusion (c) Plasmolysis (d) Root Pressure (e) Transpiration
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